10 38 (ki) BETFE

1 &RE 2 Bk 3R 4 BLEg 5 b 6 W
8:45~9:30 9:35~10:20 10:40~11:25 11:30~12:15 13:20~14:05 14:10~14:55

i SR iy A Y T3l Y SR #HE SR Wl R
1148 HEE B € zN=] N=§:2 BHER S
1248 E3k HE FER HE B¥ BHE *B *BE
15348 B HE (Z3=1 B BHER H= e ME=E
2F 148 ES R £ ES BE H= ER HE BH HE H£iE H=E
2FE248 MT = MT = BH H=E EE S ERS B=
2F348 EFE PE &E = s wE B¥ = B HE
3FE1ME B BHE E 5 H=E B HE=E 2 € ik = = *B REE
3F24 B BYE = = R B=E e HE *=5 KRBz FE HE
3F34 B BHE *®B e KT MT=E KT MI=E ESE3 = B HE
4148 B BRE B BY=E = S E TH BEE = z5 BE FE 8=
4F248 =FE HE B¥ BHE ER H=E Can— = F BEE B HE
4F 348 Tt € B# BHE EFE H=E *5 R 7S = B HE
5E 148 B BE & K== EzE HE B BHE FMT MI=E KT MIZE
bE2# ESES BE B H=E e HE B¥ BHE & HNE=E AEE HE
5% 348 EFE HE Fask & ER %= = BE=E *®5 HEE FE BEE
6E 14 RER € RER H=E *®5 RRE EHY S B BHE 3 HE
6F24 (zN=] BBE R BE=E EzE > #He H=E B BHE AEFE =
6FE 34 T MI=E KT EIz= EE TEE EFE = B BHE HE HE=E




1084 B (ki) BEFE

11 HF 2 ’HF 3 K5 4 Bl
8:45~9:30 9:35~10:20 10:40~11:25 11:30~12:15

A AT L ST #E T3l Bt A
1514 B HE E7E = B W= 25 HE
124 EES BE B = EES WE B =
1434 g = ES B = EES = 45 BE
2F 14 M H=E &I S PR HE K WE
22 B B=E B = £3E e ES BHES =
2FE 344 BEE K= bBEES = MT H=E T K=
3FE1A PR = BH BHE T HIT=E KT MI=E
3E248 EE = B EHE He B=E EE S BE=E
3FE3M4 EES S B BH=E HE B=E K8 /B | hEE/ 3E
4158 MT MT= MT MIT= B4 BHE 1iF S BR=E
4% 24 EE = EP = B BHE e WE
4 348 BE BEE | AhE/ER |FBE/EE| BH BHE EE WE
5E 14 *wBE HEEE E&E BE BE ERE we WE
b 248 E&E HE=E = W= Rz W= =] H=E
&34 REEF} = RER HE E3E=3 = HNEE HE
64 118 EE HE BE BEE we W= =5 REE
6&E 21 EE HE e HE (EN=] R BE B H=E
6% 31 & HE (=} BBE BE = B HE

X4 F 3D 2 KER.

3E3MEDARFEEIIRKE. HETEMOFETT,




